2019

? (2019.09.20)

(2 )



2019-09-20

245,418,000

2019

215,094,000

245,418,000 "

1 2020-02-13




: 2019

30,296 214,534 87.4
28 28 0.0 /
0 20,013 8.1
0 370 0.1
0 10,473 4.2

3/16



SCRIPT ERROR

(
)
214,562 184,238 30,324
214,534 184,238 30,296
214,534 184,238 30,296
1. 214,534 184,238 30,296
1. 146,764 147,296 532 - (146,764,000 x 1) - -532,000
147,296,000 =
2. 67,770 36,942 30,828 ¢ ) - (14,040,000 ¢ o28 000
x 1 )-7,362,000 =
( ) ( ) 4,000,000
4,000,000 x 1 =
( ) ( ) 1,260,000
- 1,260,000 x 1 =
( ) ( ) 1,000,000
: 1,000,000 x 1 =
( ) 5,000,000 ¢ o0 o0
x 1 =
E B - 420,000 x 420,000
( ) 6,500,000
6,500,000 1 =
( ) - 3,500,000 3,500,000
x 1 =
( ) = 970,000 670,000
x 1 =
( = 1,500,000 500,000
x 1 =
28 0 28
28 0 28
1. 28 0 28
‘1. 28 0 28 128,000 x1 = 28,000
20,383 20,383 0
20,013 20,013 0
20,013 20,013 0
1. 11,613 11,613 0
1. 10,374 10,374 0
2. 1,239 1,239 0
2. 4,200 4,200 0
1. 4,200 4,200 0
3. 4,200 4,200 0
1 2020-02-13




SCRIPT ERROR

(
QD)
4,200 4,200 0
370 370 0
370 370 0
280 280 0
280 280 0
90 90 0
90 90 0
10,473 10,473 0
10,473 10,473 0
10,473 10,473 0
10,473 10,473 0
10,473 10,473 0
245,418| 215,094| 30,324
2 2020-02-13




SCRIPT ERROR

2 ( )
)

9,880 8,620 1,260
9,880 8,620 1,260
8,560 7,300 1,260
4,800 4,800 0
4,800 4,800 0
3,760 2,500 1,260

2,610 1,800 810| ( ) 15,000 x 10 x 3 = 450,000

5 ) 15,000 x 10 x 1 150,000

( ) 10,500 x 10 x 2 = 210,000

840 700 140 | ( ) 70,000 x1 x2 = 140,000

310 0 310/ ( ) 3,000 x10 x5 = 150,000

( ) 8,000 x 10 x2 = 160,000
1,320 1,320 0
1,320 1,320 0
1,320 1,320 0
35,758 29,696 6,062
12,613 12,613 0
12,613 12,613 0
1,239 1,239 0
1,239 1,239 0
10,374 10,374 0
10,374 10,374 0
1,000 1,000 0
800 800 0
200 200 0
11,683 5,183 6,500
8,533 2,033 6,500
660 660 0

1 : 2020-02-13




SCRIPT ERROR

( : )
)

60 60 0
350 350 0
250 250 0
2. 373 373 0
373 373 0
3. 100 100 0
100 100 0
4. 400 400 0
400 400 0
5.[ 500 500 0

0 100 -100 100,000 x1 x1 = ~100,000

500 400 100 100,000 x 1 = 100,000
6. 6,500 0 6,500

5,141 0 5,141 i 5,504,000 5,504,000

363,000 x1 = -363,000

1,359 0 1,359/ ¢ 996,000 x 1 996,000

363,000 x 1 = 363,000
3,150 3,150 0
1. 2,100 2,100 0
2,100 2,100 0
2. 550 550 0
550 550 0
3. 500 500 0
500 500 0
8,400 8,400 0
4,200 4,200 0
1. 4,200 4,200 0
4,200 4,200 0

2 - 2020-02-13




SCRIPT ERROR

( : )
)

4,200 4,200 0
4,200 4,200 0
4,200 4,200 0
3,062 3,500 -438
3,062 3,500 -438
300 300 0
300 300 0
800 800 0
800 800 0
1,962 2,400 -438

1,962 2,400 -438 -438,000 = -438,000

72,298 55,908 16,390

36,130 30,160 5,970

14,080 14,080 0
8,900 8,900 0
7,900 7,900 0
1,000 1,000 0

500 500 0
500 500 0
4,680 4,680 0
3,780 3,780 0
900 900 0
500 500 0
500 500 0
500 500 0
200 200 0
200 200 0
200 200 0

3 : 2020-02-13




SCRIPT ERROR
( : )
)

6,000 6,000 0
1,000 1,000 0
1,000 1,000 0
5,000 5,000 0
240 240 0
4,510 4,510 0
0 0 0
250 250 0
4,420 3,450 970
3,450 3,450 0
3,000 3,000 0
450 450 0
970 0 970

970 0 970 ( ) 970,000 x1 = 970,000
2,150 2,150 0
2,150 2,150 0
200 200 0
1,950 1,950 0
7,000 2,000 5,000
2,000 2,000 0
1,200 1,200 0
800 800 0
5,000 0 5,000

3,624 0 3,624 5 ) 8,624,000 3,624,000

1,376 0 1,376 E ) 1,376,000 x1 1,376,000
1,200 1,200 0
1,200 1,200 0
1,200 1,200 0

4 : 2020-02-13




SCRIPT ERROR
(
()

580 580 0
100 100 0
100 100 0
480 480 0
480 480 0
25,168 14,748 10,420
11,580 2,580 9,000
750 750 0
750 750 0
1,480 1,480 0
1,480 1,480 0
350 350 0
350 350 0
4,000 0 4,000

334 0 334 ( ) 334,000 x1 = 334,000

3,666 0 3,666 | ( ) 600,000 x 1 = 600,000

( ) 8,000 x45 x2 = 720,000

( ) 3,000 x45 x4 = 540,000

( ) 45,150 x 10 x4 = 1,806,000
1,500 0 1,500

550 0 550 | ( ) 350,000 x1 x1 = 350,000

)((1 >(:)L _ ( ) 200,000 200,000

499 0 499 ( ) 8,000 x35 x1 = 280,000

( ) -280,000 x1 = -280,000

( ) 3,000 x56 x1 = 168,000

( ) -168,000 x 1 = -168,000

( ) 62,750 x8 x1 = 502,000

5502,030= (62,375 x8 x1 ) ~3,000

5 : 2020-02-13




SCRIPT ERROR

( : )
)

451 0 451 g - ) 11,000 x 41 451,000
3,500 0 3,500

3,500 0 3,500 5'500,030 i1 - 3,500,000
8,668 8,668 0
4,000 4,000 0
4,000 4,000 0
4,668 4,668 0
4,668 4,668 0
1,420 1,000 420
1,000, 1,000 0
1,000 1,000 0
420 0 420

420 0 420 € i} ) 11,000 21 x1 231,000

( ) 9,000 x21 x1 = 189,000
500 500 0
500 500 0
500 500 0
3,000 2,000 1,000
2,000 2,000 0
1,314 1,314 0
336 336 0
350 350 0
1,000 0 1,000

300 0 300/ ) 300,000 x1 x1 = 300,000

400 0 400/ ( ) 200,000 x1 = 200,000

( ) 100,000 x 1 = 100,000

( ) 10,000 x 10 x1 = 100,000

300 0 300 ¢ i} ) 10,000 x15 x 2 300,000

6 : 2020-02-13




SCRIPT ERROR

(
QD)
11,000 11,000
11,000 11,000
6,400 6,400
6,400 6,400
3,200 3,200
3,200 3,200
450 450
450 450
950 950
500 500
450 450
19,110, 19,110
12,200/ 12,200
12,200 12,200
12,200/ 12,200
10,496 10,496
1,704 1,704
3,940 3,940
3,940 3,940
440 440
440 440
2,400 2,400
2,400 2,400
1,100 1,100
300 300
800 800
2,970 2,970
2,970 2,970

2020-02-13




SCRIPT ERROR

(
()
2,970 2,970 0
2,970 2,970 0
17,275, 21,075  -3,800
4,440 4,440 0
4,440 4,440 0
1,300 1,300 0
700 700 0
600 600 0
700 700 0
700 700 0
1,250 1,250 0
500 500 0
750 750 0
500 500 0
500 500 0
490 490 0
490 490 0
200 200 0
200 200 0
440 440 0
440 440 0
440 440 0
160 160 0
280 280 0
6,650 6,650 0
6,650 6,650 0
6,650 6,650 0
840 840 0
8 : 2020-02-13




SCRIPT ERROR

2 ( )
)
3,630 3,630 0
2,000 2,000 0
180 180 0
5,745 9,545 -3,800

5,745 9,545 -3,800

5,745 5,745 0
1,700 1,700 0
4,045 4,045 0

0 3,800 -3,800

0 3,800 -3,800 -3,800,000 = -3,800,000

90,497 80,085 10,412

23,626 22,658 968
23,626) 22,658 968
6,160 6,160 0
1,000/ 1,000 0
2,160 2,160 0
3,000 3,000 0
10,008 10,008 0
3,780 3,780 0
5,400, 5,400 0
828 828 0
7,458 6,490 968

4,928/ 3,960 968 121,000 x 8 = 968,000
50 50 0
2,300) 2,300 0
180 180 0
65,731 56,287 9,444

65,731 56,287 9,444

9 : 2020-02-13




SCRIPT ERROR
( : )
)

13,992 13,992 0
7,800 7,800 0
480 480 0
5,712) 5,712 0
495 495 0
495 495 0
15,272 15,272 0
15,272 15,272 0
18,602 15,926 2,766
1,800 1,800 0

16,502 14,126 2,466 2,466,000 x 1 = 2,466,000

300 0 300 ( ) 150,000 x 2 = 300,000
200 200 0
200 200 0
400 400 0
400 400 0
2,640| 2,640 0
2,640 2,640 0
14,040,  7,362| 6,678

13,129| 6,835  6,294( ) 50,100 x 79 = 3,958,000

( ) 130,000 x 3 = 390,000

( ) 55,140 x 18.7 = 1,032,000

§: ) 55,140 x 30 x (3/12 414,000

( ) 500,000 x 1 = 500,000

234 134 100/ ¢ - ) 400,000 x (3/12 100,000

677 303 284 5 5_6%=)4 5,067,000 284,000
1,140, 1,140 0
940 940 0

10 - 2020-02-13




SCRIPT ERROR

)
940 940 0
240 240 0
700 700 0
200 200 0
200 200 0
200 200 0
600 600 0
600 600 0
600 600 0
600 600 0
600 600 0
245,418 215,094 30,324

11
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